Name

Date Class

Find the derivative of each of the following functions
defined by integrals.

L. g() = ["(2t +3)dt

gy = [25) 43 (&N

= 3@’%*3)
o'(x)= (¥x 4%

2. h(x) =[5 3VEdt
N
nh): 30 -(x)

= "’X‘s' 3')(1

hitx)= (2 x

3. f(0) = [ (t* +2t)dt
( AN
Sy @ S E~2)0t
~1

B @K)‘ -« D(a:)) D

"

— qua-&qx)- 2

¥ ({ﬁ): - &xa— [Sx

Homework 7.1
4. H(x) = [ 2e2dt

H(x)= 2 ¢os x + (~Stor)

B'x) = -2 8iax cot'X

x2+2x

5. P)=[;, T (Bt—2)dt

P( (7‘) = (S (*€>x) —)) . (’3; -l-;)
plix) - ENEGR ~2)(2x+3)

6. f(x)=[. (e'+t)dt
Inx
8.(1.): - S (ft‘t)dt
= - C'C\“x * I""“) . Ji

K-«-lv\)t
Mo = - L2
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Pictured is the graph of f{f)and F (x) = f_Z: f(®)dt. Use
the graph and F(x) to answer the questions 7 — 11.

Pictured is the graph of fand G(x) = f_xz f)dt. Use the
graph to answer questions 12 — 15.

-¢
-2+ A

8. Find the value of F (— %)

(%) !
F-4) = § R = § Feeret
_(‘ —(2
RN R AR
=z —af+ "i

9. Find the value of F'(—2).
Faa= $ ) -(xy
Fix) =2 £0ox)

F 3= 2 F(2:69)
=23
=2 ()

=4
10. Find the value of F'(2.5).

F(35): 2 §(3:2.9)
= >3 ()
=22
=«

11. Find the value of F"(0)
Froas= 2860 -0x)
Fly=~ F(0x)
Fe(oyz o ¥ (29

= - s((")

> o (
F(@) =y

j " 1 T O Yo
X 1““ 4 - ‘\\L‘b\ + Gral)h o-ff """ A 4 —((,—2!7'
N 5 P = )
) I . \L @ y,
l iod L. A\ -3 /: 4
X e 2 4 i 4 1 A= L U*S_)U'S_) é! i
11 2t s/ {3 2 N w4 3 6N ¢
RO R 91 1 (W= 2
Ab"‘-" g - Il-’f,'\\ . ';;.4;»6': I ,c ¢ /40: %TT Ws
: LuCommn) - =dl
7. Find the Va_l;ugofF(O). oM L ‘
F(s\= G St %

12. Find the value of G(3). = %;u-\bt

~2

= 1+ 8 (Y =3l

- 3-8 «T
= -\
-
13. Find the value of G(—4). = § §(t)at
=2
-2
= - g-‘l(t\at
-«
- - [u]

= -G

14. Find the value of G'(—2). f, e)dt
G'(x)= F6d- X’
GGy = FH)
G FD=12

15. Find the value of G"(—5).
G'(e) = f (%)
G = Y&

GY(-5)- Y (-5) =7

/

(g(upa‘f‘ ¥ o ""‘§>
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Ifg(x) = “t3etdt, find each of the following values in
0

questions 16 — 17.
16. Find the value of g'(1).

Q' ()= X e - x'

A (x) = xe™
%'(l): C'fﬁ' e

17. Find the value of g"(1).
3 x
X e

a'(x)=

Ifh(x) = fxzz V1 + t*dt, find each of the following values
in questions 18 — 19.

18. Find /'(x).

‘I.

W= ~ SJ’*“-" ot

W)=
h((‘): -

(+ X

19. Find 4"(1).

h'(x)=- D& ((*K
\_—_’_J

- ey -(x")

8

Vz
chain

IS

w'y= "2 (1-*73) - ox -3 (+4) -

8

W= 2l JT*_T

b4 (.«\t

SRR ERRT N
-aJ2 It
SR

J1

Y1)

“dA-%

J3

-\

NER
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